8400 Series

MORTISE EXIT DEVICE

/® BACK-UP PLATE
PIN 230110

#10-32 X 5/8" FLAT HEAD SCREW PACK
PIN 91-0833-04
4REQD

(3) STRIKE
PIN 31-0561-01-IP

THERMAL CLAD KIT (14)
PIN 91-0325-XX

THICK DOOR KIT (13)

PIN 91-0995-XX-IP

#10-32X 508"

(4 )METAL END CAP
PIN 41-0903-P

CAM SCREW
PIN 22-0066 SELF-TAPPING
4REQD

4t
PN 20652 &

(5)DOGGING ASS'Y
PIN 31-0265-1P

P T F0X 11 PANHERD
ELF-TAPPING SCREW
¢ @KggH BAR  2REQD
FACEPLATE (1D
PIN 24-0137-xx-xxx@\\% 7
oL DOGGING KEY
& PIN 26-0481-MP
v E - * #10 X 5/8" FLAT HEAD SCREW
N - SELF-TAPPING
~ 2REQD
#8-32 X 114" FLAT HEAD < T (8) METALEND
SCREW2PACK — N~ £ CAP ASSY
PIN 97-0244-XXX N PIN 41-090205-P
*
#10-32 X 1-314" FLAT HEAD SCREW * © o HEX HEAD GEM SCREW INCLUDED IN HARDWARE PACK
FOR 31/32" BACKSETS of
OR CAM RETAINER RING

#10-32 X 1-7/8" FLAT HEAD SCREW +
FOR 1-1/8", 1-1/2" BACKSETS
2REQD

P/N R603-31-MP

“ EXIT DEVICES


k.schelski
Highlight

k.schelski
Highlight


